

Exam II Supplementary Sheets

A Short Table of Laplace Transforms

1. $\mathcal{L}\{af(t) + bg(t)\}(s) = aF(s) + bG(s)$
2. $\mathcal{L}\{e^{at}f(t)\}(s) = F(s - a)$
3. $\mathcal{L}\{-tf(t)\}(s) = \frac{d}{ds}F(s)$
4. $\mathcal{L}\{1\}(s) = \frac{1}{s}$
5. $\mathcal{L}\{t^n\}(s) = \frac{n!}{s^{n+1}}$
6. $\mathcal{L}\{e^{at}\}(s) = \frac{1}{s - a}$
7. $\mathcal{L}\{t^n e^{at}\}(s) = \frac{n!}{(s - a)^{n+1}}$
8. $\mathcal{L}\{\cos bt\}(s) = \frac{s}{s^2 + b^2}$
9. $\mathcal{L}\{\sin bt\}(s) = \frac{b}{s^2 + b^2}$
10. $\mathcal{L}\{e^{at} \cos bt\}(s) = \frac{s - a}{(s - a)^2 + b^2}$
11. $\mathcal{L}\{e^{at} \sin bt\}(s) = \frac{b}{(s - a)^2 + b^2}$
12. $\mathcal{L}\{f'(t)\}(s) = sF(s) - f(0)$
13. $\mathcal{L}\{f''(t)\}(s) = s^2F(s) - sf(0) - f'(0)$
14. $\mathcal{L}\left\{\int_0^t f(x) dx\right\}(s) = \frac{F(s)}{s}$
15. $\mathcal{L}\{(f * g)(t)\}(s) = F(s)G(s)$

Table of Convolutions		
$f(t)$	$g(t)$	$f * g(t)$
1. t	t^n	$\frac{t^{n+2}}{(n+1)(n+2)}$
2. t	$\sin at$	$\frac{at - \sin at}{a^2}$
3. t^2	$\sin at$	$\frac{2}{a^3}(\cos at - (1 - \frac{a^2 t^2}{2}))$
4. t	$\cos at$	$\frac{1 - \cos at}{a^2}$
5. t^2	$\cos at$	$\frac{2}{a^3}(at - \sin at)$
6. t	e^{at}	$\frac{e^{at} - (1 + at)}{a^2}$
7. t^2	e^{at}	$\frac{2}{a^3}(e^{at} - (a + at + \frac{a^2 t^2}{2}))$
8. e^{at}	e^{bt}	$\frac{1}{b-a}(e^{bt} - e^{at}) \quad a \neq b$
9. e^{at}	e^{at}	te^{at}
10. e^{at}	$\sin bt$	$\frac{1}{a^2 + b^2}(be^{at} - b \cos bt - a \sin bt)$
11. e^{at}	$\cos bt$	$\frac{1}{a^2 + b^2}(ae^{at} - a \cos bt + b \sin bt)$
12. $\sin at$	$\sin bt$	$\frac{1}{b^2 - a^2}(b \sin at - a \sin bt) \quad a \neq b$
13. $\sin at$	$\sin at$	$\frac{1}{2a}(\sin at - at \cos at)$
14. $\sin at$	$\cos bt$	$\frac{1}{b^2 - a^2}(a \cos at - a \cos bt) \quad a \neq b$
15. $\sin at$	$\cos at$	$\frac{1}{2}t \sin at$
16. $\cos at$	$\cos bt$	$\frac{1}{a^2 - b^2}(a \sin at - b \sin bt) \quad a \neq b$
17. $\cos at$	$\cos at$	$\frac{1}{2a}(at \cos at + \sin at)$

Partial Fraction Expansion Theorems

The following two theorems are the main partial fractions expansion theorems, as presented in the text.

Theorem 1 (Linear Case). *Suppose a proper rational function can be written in the form*

$$\frac{p_0(s)}{(s - \lambda)^n q(s)}$$

and $q(\lambda) \neq 0$. Then there is a unique number A_1 and a unique polynomial $p_1(s)$ such that

$$\frac{p_0(s)}{(s - \lambda)^n q(s)} = \frac{A_1}{(s - \lambda)^n} + \frac{p_1(s)}{(s - \lambda)^{n-1} q(s)}. \quad (1)$$

The number A_1 and the polynomial $p_1(s)$ are given by

$$A_1 = \left. \frac{p_0(s)}{q(s)} \right|_{s=\lambda} \quad \text{and} \quad p_1(s) = \frac{p_0(s) - A_1 q(s)}{s - \lambda}. \quad (2)$$

Theorem 2 (Irreducible Quadratic Case). *Suppose a real proper rational function can be written in the form*

$$\frac{p_0(s)}{(s^2 + cs + d)^n q(s)},$$

where $s^2 + cs + d$ is an irreducible quadratic that is factored completely out of $q(s)$. Then there is a unique linear term $B_1s + C_1$ and a unique polynomial $p_1(s)$ such that

$$\frac{p_0(s)}{(s^2 + cs + d)^n q(s)} = \frac{B_1s + C_1}{(s^2 + cs + d)^n} + \frac{p_1(s)}{(s^2 + cs + d)^{n-1} q(s)}. \quad (3)$$

If $a + ib$ is a complex root of $s^2 + cs + d$ then $B_1s + C_1$ and the polynomial $p_1(s)$ are given by

$$B_1s + C_1 \Big|_{s=a+bi} = \left. \frac{p_0(s)}{q(s)} \right|_{s=a+bi} \quad \text{and} \quad p_1(s) = \frac{p_0(s) - (B_1s + C_1)q(s)}{s^2 + cs + d}. \quad (4)$$